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() 2.6X8.4+2.4X8.4 6) 3.3X1.25%X8

2) 2.5X3.9%X4 7y 25.8X4

3) 125.3X8 8) 9.6X45

4) 4.1 X8.2+4.9X8.2 @) 9.8X25

5) 5.3X4X2.5 (10) 8.6 X4.5—2.6X4.5
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(1) 2.6X8.4+2.4X8.4
= (2.64+2.4)x8.4

= 5X8.4

= 42

2) 2.5X3.9X4
= 3.9X(2.5X4)
= 3.9X10
= 39

3) 125.3X8

= (125+0.3)x8
= | 25X840.3%8
| 000+ 1.2

= 1002.4

(4) 4.1X8.2+4.9%8.2
= (4.144.9)x8.2

= 9X8.2

= 73.8

5) 5.3X4X2.5
= 5.3X(4X2.5)
= 5.3X10

= 53

6) 3.3X1.25%X8
= 3.3X(1.25%X8)
= 3.3X10
= 33

(7) 25.8X4

= (25+0.8)X4
= 25X4+0.8X4
= |00+3.2

= [03.2

8) 9.6X45

= (10—-0.4)X45

= |0OX45—-0.4X45
= 450—18

= 432

@ 9.8X25

= (10—0.2)X25

= |0OX25—-0.2X25
= 250—5

= 245

(10) 8.6X4.5—2.6X4.5
= (8.6—2.6)X4.5
= 6X4.5
= 27
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